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Shift@} Rotate 22
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e 7.2 Shift?} Rotate ™= 0§

Instructions S =t 1=
SHL dst, count shift left logical shift
SHR dst, count shift right

SAL dst, count

shift arithmetic left

SAR dst, count

shift arithmetic right

arithmetic shift

ROL dst, count

rotate left

ROR dst, count

rotate right

rotate

RCL dst, count

rotate carry left

RCR dst, count

rotate carry right

rotate with carry

SHLD dst, src, count

double-precision shift left

SHRD dst, src, count

double-precision shift right

double-precision
shift

s dstE=r/m

= count=imm8 E = CL
.:;" % H H|CHS ul

BEEEEL




g =cl Shiftef £F& Shift
— 1

B Logical shift vs. Arithmetic shift

logical shift = unsigned shift

O—> o> o>

CF

= arithmetic shift = signed shift (EEZbitE HZETH

CF
m 1-bit shift right
unsigned number: 11110000 (240) - 01111000 (120)

= Signed number: 11110000 (-16) —-> 11111000 (-8)
B Shift leftQ} Shift right

= 1-bit shift left: 25
« 1-bit shift right: 22 L}&
Ty A ML Ot il

RS/ ATHEEHS




mhg SHLQH SHR B0

B logical shift @& 0{: SHL, SHR
B SHL dst, count

CF

B SHR dst, count

0O—> o> o>

SHL reg, 1mm8
SHL mem, 1mm8
SHL reg, CL
SHL mem, CL

CF

CFOjl = OFX|2t shift HHE 7} A ZHE



‘. G Al

ml
B ShiftE 0| 8T W E =4
= N-bit shift left = multiply by 2"
n A*S5=A*(22+1)=(A<<2)+ A

mov dlI,A

mov al,dl - AL = A
shl dl,2 - DL = 4*A
add al,dl - AL = 5*A

m LpeA
= N-bit shift right = divide by 2"

mov dlI,80

shr dl,1 - DL = 40
shr dl,2 - DL = 10

geen s A MICH S ul

X ZAOEHAMHEA HA=Se[A0




" SALII SAR B O]
ul B
B Arithmetic shift @=0: SAL, SAR
B SAL dst, count = SHL dst, count

CF

B SAR dst, count

> o> 6> 6> &> 6> 06> o6 > o >

CF

. HT HZ=E (MSB)

mov dlI,-80 ; 10110000b
sar dl,1 ; DL = -40 (11011000)
sar dI,2 ; DL = -10 (11110110)

Feeny & MICHS il

» X ZAOEHAMHEA HA=Se[A0




‘. G Al

ml Il
B AXE EAXE BT 273

mov ax,-128 - EAX = ??7?7?FF80h
shl eax, 16 - EAX = FF800000h
sar eax, 16 - EAX = FFFFFF80h

Feeny & MICHS il

» X ZAOEHAMHEA HA=Se[A0




Y ROLi} ROR ©H = 0
ul I
B ROL dst, count

<4+—F 0 <0 <« o « O 0 <0 <« o <« .A

CF

B ROR dst, count

AT TE O > e > 0> e > 0> 0> 0 >

CF

mov al,11110000b

rol al,2 - AL = 1100 0011b, CF=1

mov dl,3Fh - 0011 1111

ror dl,3 ; DL = F3h(1110 0111), CF=1

FEen% H AM|CH St

WO HEE|HHEA YR Ry 9




‘. G Al

H HE 189 u%t

= HIO|EQ| A2 4H|EQ} O}Q] 4H|E=S ME m %t

mov al, 26h
rol al, 4

AL = 62h

5L "T’}i“-\l
gEeny A MICHSY ul
A
A

BEEEEL
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e RCLid} RCR = 0f

B RCL dst, count
CF

* [« o 0 0 0 0 0,
B RCR dst, count
CF
A &> o > &—> &> o—> @ 07
clc - CF =0
mov bl ,88h - CF,BL = 0 10001000b
rcl bl,1 - CF,BL = 1 00010000b
mov ah,10h - CF,AH = 1 00010000b
rcr ah,1 - CF,AH = 0 10001000b
oA EC| 0]

11



™ Shift/Rotate®} Overflow =cj 1
ul

B 1H|E Shift £ RotateQ] 2 Zit BT H|E 7L BILj & £|H
OF=10| &

mov al, 127 - AL =01111111b
rol al, 1 AL =11111110b, OF =1
mov al, -128 - AL = 10000000b
shr al, 1 - AL = 01000000b, OF = 1

B shift count7} 1ELC} 3™ OF= AO|E|X] g2

rir

4\'_5"'_1"1?:;;\_
o Y
geeny A AMICHS
i .

ZEYEHEL o =2A0f

12



T SHLD®?} SHRD ™=
]
B SHLD dst, src, count not affected
= dst £ count ZlL£TH3 shift left dst
s Srco| 42| count HIEE
dstQ] 0} count HIE O] &2 A}
= src £ FUHIE] 2 not affected
B SHRD dst, src, count src > dst
= dst £ count 2l L£0F2 shift right
= SrcQ] 0] count HHEE
dstQ] 42| count HIE 0] 2 A}
srcke FUHIR| oFS

O o=

|
TR

A

Src

dst Src count

SHLD regl6/32, regl6/32, imm8/CL SHRDE #2 Y4
SHLD meml16/32, regl6/32, imm8/CL

geen s A MICH S i

WY HEEHHHEA oAl ECIA0o 13




il lF
B HAL walg 4H|E 2IZ0 2 0|01
B A wvalQ] 0tQ] 4H|E = AXQ] AQ4HIE 2 IS

_data - AX
wval WORD 9BAGh

Before: —IoR
_code N '@ Br36

mov ax,0AC36h

After: (BA&® AC36

shid wval,ax,4

B AXE 4H|E QEZOR 0|50l
AXO] AFQ] 4H|E = DX9] O}2] 4H|E & A&

mov ax,234Bh DX AX

mov dx,7654h Before: 76354 (234)
shrd ax,dx,4

After: 7654 34

) Rl

NOZEEEEEER ora=elao




e 7.3 Shift?} Rotatel] 2

ol
B 03] 72| Q| shift

»
L

A 4

m O] =4

B 0|7y HIE HA|

(ex) AX = 3Ah - string "00111010"Q 2 tHEZ}
H HEZIC 27

(ex) 01001101 > EXMTIEZFS XX (001)

oy Rkl g

WSS HTEEEEL OIS =IO

15



e G121 7Hel HEQIE Shift
ul
B 3 doublewordE£ 1H|EXl QEZO0F 0|=

.data

array DWORD 3 DUP(99999999h) ; 1001 1001...

.code

mov esi,offset array

shr [esi + 8],1 ;, high dword

rcr [esi + 4],1 , middle dword, include Carry

rcr [esi],1 ; low dword, i1nclude Carry

memory MSB LSB
array array+8 array+4 array

array+4 shr o« TCr . TCT
array+8 CF CF CF

B 3 doublewordE 2H|EXl QEZ O3 0| ?7?

FEen% H AM|CH St

Y

o=
i
1
re
L=

16



[ O]l =4
il
B EAX & EAX*36 H| A0}
s EAX*(25 + 22)

mov eax,123
mov ebx,eax
shl eax,5 ; mult by 2°
shl ebx,2 ; mult by 22
add eax,ebx

B shiftE A9 32H]| E unsigned integer &4
= next slide

LT3 A MOt

NOZEEEEEER ora=elao




title multiplication using shift
include irvined?.inc
-.data
operand1 dword 25
operand2 dword 2
result dword 7
message byte ‘Overflow’ ,8
-code
main proc
mov ebx, operandl
mov edx, operand?
mouv eax, A
mov ecx, 32
LA: — test edx, 1
jz L1
add eax, ebx=
L1: shr edx, 1
jz L2
chl eb¥, 1
jc L3
— loop LA
L2: mov result, eax
call WriteDec
call Crlf
exit
L3: mov edx, offset message
call WriteString
call Crlf
exit
main endp
end main

multiplicand
multiplier

loop counter

if (1) add
if {edx=8) exit loop
unsigned overflow

write result

write error message

18



"!‘II ()I25l4# thEE.EEE)kI
]

B Algorithm: 32H|E £ & ASCII 271 &

= Repeat 32 times do

AtE 2w

) S

If CF =1, append a "1" character to a string;

{ Shift MSB into the Carry flag;

otherwise, append a "0" character.

.data
value DWORD 1234h
buffer BYTE 32 DUP(0),0
.code
mov
mov
mov

eax,value
ecx, 32
esi ,0OFFSET buffer
L1: shl eax,1
mov BYTE PTR [esi], " 0"
jnc L2
mov BYTE PTR [esi],"1"
L2: INnC esi
floop L1

; default digit O

; digit 1

geen s A MICH S ul

NI HREEREL

19




mp HIE ZE £
]

B MS-DOS file date field

= packs the year, month, and day into 16 bits:

DH

| | |
00100110 01 DO 1010

Field:
Bit numbers:

Year

= month field 22|

9-15 5-8

mov ax,dXx

shr ax,5

and al,00001111b
mov month,al

make a copy of DX
shift right 5 bits
clear bits 4-7

save

Iin month variable

|'§:.’ ;.?:' EA-"L"QE-

WY HAFTHE RS

20




7.4 B LHR A B
i

0,

Instructions | =&t 1=

MUL src edst < dst * src unsigned operation
DIV src edst < dst / src

IMUL src dst < edst * src signed operation
IDIV src dst < edst / src

CBW convert byte to word convert

CWD convert word to dword (with sign extension)
CDQ convert dword to qword

dst2 EE g|X|AHE A2 02 & instruction0f] E7|0}X] &2
-—> implied operand

f,_,‘v\ UN ﬁ"}:‘"\
SR o M| CH St il
\

BEEEEL

21



g MULI IMUL B0
il B

B MUL src ; unsigned multiplication
B |IMUL src ; signed multiplication
Multiplicand Multiplier(src) Product
AL r/m8 AX
AX r/ml6 DX:AX
EAX r/m32 EDX:EAX

B MULOJA CF= Ct=2] <0 10|
« productZt LB HA] 2liQ] multiplicand0f] K& £ QS
Z, productQ] upper half7t 00| O} H
B IMULOIA] OFLI CF= CI=29] ZA4<20j 10]=]
= productQ] upper half7} lower halfe] sign extensionO] OfLl AL

B

Feeny & MICHS il

M=
WO Y HEEHEEX o EcIA0]




| MUL O] A

ulll
® vall * val2 (100h * 2000h), using 16-bit operands

.data

vall WORD 2000h
val2 WORD 100h
.code

mov ax,vall

mul val?2 - DX:AX = 00200000h, CF=1

B 12345h * 1000h, using 32-bit operands

mov eax,12345h
mov ebx,1000h

mul ebx ; EDX:ZEAX = 0000000012345000h, CF=0

o) ELERE )
RSy A REEEEL O =el¢of 23




mllF
B Multiply 48 * 4, using 8-bit operands
mov al,48
mov Dbl ,4
imul bl - AX = 00COh, OF=1
B Multiply 4,823,424 * (— 423):

IMUL O] A|

mov eax,4823424
mov ebx,-423
imul ebx

; EDXZEAX = FFFFFFFF86635D80h, OF=0

G5 "T'}i“-\l
STon% S AICHOH i
\ A

oy

BEEEEL
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g 'MUL BO] - 2, 3 I| AR} EA
mlll
B IMUL (signed multiply)= 2-O|HAMA}, 3-T|H AR P AT K|
B 2-I|H ALK} IMUL
IMUL reg, reg/mem

IMUL reg, imm ; Imm 8H|E = reglt &2 A7

B 3-I|H ARl IMUL
IMUL reg, reg/mem, imm ; Imm 8H|E = reglt &2 A7

S0 o1 M| CH S
\ ) -IL:II 1| LI-;I iy ul OAZ2|AHN
K 4 ARHEEE] o= 25




g D!Vl IDIV HO]

il
B DIV src ; unsigned division
m DIV src ; signed division
Dividend Divisor (src) Quotient Remainder
AX r/m8 AL AH
DX:AX r/ml6 AX DX
EDX:EAX r/m32 EAX EDX

" Lheg

= DIV : zero extension (upper halfoj] 02 A%
= IDIV : sign extension (upper half0j] lower halfe] ¥ & A%}

- CBW, CWD, CDQ Instruction Al

)K

m DIV, IDIVE £

Feeny & MICHS il

RS/ ATHEEHS

-

SH Sdi17F SR E=

oy

M|

g 10

0171740 dividendQ] 2t%2010] upper halfE X<l OF &t

26



wg D!V CiIFl
£
ul
B Divide 8003h by 100h, using 16-bit operands:

mov ax,8003h ; dividend, low

mov dx,0 ; clear dividend, high
mov cX,100h . divisor

div cXx . AX = 0080h, DX = 3

B Same division, using 32-bit operands:

mov eax,8003h ; dividend, low

mov edx,0 ; clear dividend, high
mov ecx,100h ; divisor

div ecx ;. EAX = 00000080h, DX = 3

FEen% H AM|CH St

X ZAOEHAMHEA HA=Se[A0




T CBW, CWD, CDQ ™= 0

CBW
CWD
CDQ

Example:
mov ax, OFF9Bh

cwd

; AL:AH < sign-extension(AL)
; DX:AX < sign-extension(AX)
; EDX:EAX & sign-extension(EAX)

> (-101)
; DX:AX = FFFF FF9Bh

B 8-bit division of —48 by 5

mov al,-48

into AH

cbw - extend AL
mov Dbl,5
1idiv bl - AL = -9,

frenh G MILH St

M=
WS UEEEHEL HASEIA0]
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g DIV Of[A
ol

B 16-bit division of —48 by 5

mov aX,-48

cwd - extend AH 1nto DX
mov bx,5
1div bx - AX = -9, DX = -3

B 32-bit division of —48 by 5

mov eax,-48

cdg ; extend EAX into EDX
mov ebx,5
1div ebx - EAX = -9, EDX = -3

SRy,
e T
FT0 A MY 2t o
b, _.-"
4 y/

ZEYEHEL o =2A0f
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T Divide Overflow

]
W C12 T2 20| 4% Hits?

mov dx,0087h

mov ax,6002h - dividend = 00876002h
mov bx,10h > divisor = 10h
div bx ; quotient = 87600h

= divide overflow : quotient& AX0| A& & g2
W Ch2 T2 30| £ Albe?

mov ax,OFDFFh ; —513

cwd ; dividend(DX:AX) = FFFF FDFF
mov bx,100h ; divisor(BX) = 0100h (256)
idiv bx

= DX = FFFFh (-1), AX = FFFEh (-2)

geen s A MICH S ul

X ZAOEHAMHEA HA=Se[A0




T Unsigned Arithmetic Expressions

B vard = (varl + var2) * var3

mov eax,varl
add eax,var?2

mul var3

JjcC tooBig

mov var4,eax

Jmp next
toobig:

next:
- continue

; Assume unsigned operands

EAX = varl + var2
EAX = EAX * var3
check for carry
save product

; display error message and exit

gEen & HICH St il

BEEEEL
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E Signed Arithmetic Expressions

B EAX = (-varl * var2) + var3

mov eaxX,varl
neg eax

imul var2

jo TooBig
add eax,var3
jo TooBig

EAX
EAX
check for overflow
EAX = (-varl*var2)+var3
check for overflow

-varl
-var*var?2

B vard = (varl *5) / (var2 — 3)

mov eax,varl
mov ebx,5
imul ebx

mov ebx,var?2
sub ebx,3
1div ebx

mov var4,eax

left side

EDX:-EAX = varl*5

right side
EBX = var2-3
EAX = (varl*5)/(var2-3)

32



g (5 EE ERE: A R

B Extended Precision Arithmetic

7|A0]= BiX{ 32H|E A& G A 7HX|OF M| 2 ot

FCH2t 27]9] operand0l LHSH Ah& GAHS 32H|E AAHE HH=O}o]
At OL0] 4% 7Hs

Orell Ate] Haro| CF Zut7F SAAr2] A cHojl ArEE

B CarryQl S| S1Al, w2 L~ O0H0= Instruction A&

ADC ADD SBB SUB

A MICHS!

WY HEEHHHEA oAl ECIA0o 33



T ADCL} SBB H = 01
il
B ADC dst, src ; add with carry
n 2k dst < dst + src + CF
B SBB dst, src ; subtract with carry(borrow)
m Ak dst < dst —src— CF
B Example

= Add two 32-bit integers (FFFFFFFFh + FFFFFFFFN), producing a 64-bit
sum in EDX:EAX:

mov eax,OFFFFFFFFh ; lower half

mov edx,0 ; upper half
add eax,OFFFFFFFFh ; add lower half
adc edx,0 ; add upper half

EDX:EAX = 0OOOOOOO1FFFFFFFEh

Feeny & MICHS il

WS HEEHHEA OIS e A0 34




- G Al

B EDX:EAX -1

= Starting value of EDX:EAX: 00000001 00000000n

mov edx,1
mov eax,0
sub eax,1
sbb edx,0

; set upper half
; set lower half
; subtract lower half
; Subtract upper half

EDX:EAX = 00000000 FFFFFFFF

& UN I’F}}_\I
o) R
b\

FHEESA

35




™ Extended Addition Example
=1

.data
valuel QWORD 123456789abcdefOh
value2 QWORD 9abcdeft012345678h
result DWORD 3 dup (?)
.code
mov esi,OFFSET valuel
mov edi1,OFFSET valueZ2
mov ebx,OFFSET result
mov ecx, 2
clc , clear the Carry flag
L1:mov eax,[esi] get the first iInteger
—adc eax, [edi] add the second i1nteger

pushfd , save the Carry flag

mov [ebx],eax , store partial sum

add esi,4 , advance all 3 pointers

add edr,4

add ebx,4

popfd ; restore the Carry flag

CFL, Toop L1 - repeat the loop

adc word ptr[ebx],0 , add any leftover carry
S0 A M| CH O
;;:ﬁ:f‘ 1'1%1 Egil!:_l LI 36




Y 7.6 ASCIIQ} &= 1071 A=A 4%

L

B Binary-Coded Decimal (BCD) — Packed Decimal

« 10%14& 1X}2|2 4-bit 27122 HH

B Unpacked decimal

« 10%14& 1X}2|2 8-bit 2%122 HH

B ASCII Decimal
= 10714 1XA2| = 8-bit ASCII AEZ HU

B Example

= 10714 56780 B

BCD

unpacked
decimal

ASCII

oy AT St

RS/ ATHEEHS

0101|0110

0111|1000

00000101

00000110

00000111

00001000

00110101

00110110

00110111

00111000




T ASCII Decimal Arithmetic

il lF
B Example: '8' + '2' unpacked decimal
= 00111000 + 00110010 = 01101010 > [Adjust]-=> 00000001 00000000
1 0

>[ASCII]> 00110001 00110000
I1I IOI
B ASCII Adjust Instructions

Instructions SA)
AAA ASCII adjust after addition
AAS ASCII adjust after subtraction
AAM ASCII adjust after multiplication
AAD ASCII adjust before division

implicit operand: AX

gEens H MICHS

WY HEEHHHEA oAl ECIA0o 38




[ AAA B30
]
B AAA
« GIAMI(ADD, ADC) 20§ AL > 9 O]™ adjust, AH=AH+1
= ALO| 29| 4H|E=0
B Add '8 and '2'

mov ah,O
mov al,"8" > AX = 0038h
add al,"2* - AX = 006Ah
aaa > AX = 0100h
or ax,3030h - AX = 3130h = *10*
B Add '9' and '8’
mov ah,O
mov al,"8" > AX = 0038h
add al,"9" - AX = 0071h
aaa > AX = 0107h
or ax,3030h - AL = "17*"
FEen® o1 MICHS!
AN 2 F=4 -IEI-lECI,;IE EAl oAl ECIA0o 39




mE S B0
ul B
B AAS
« HHMI(SUB, SBB) £ 0j| AL < 00|™ adjust, AH = AH-1
= ALO| 29| 4H|E=0
B Subtract '9' from '8

mov ah,O
mov al,"8" ; AX = 0038h
sub al,"9°" ; AX = OOFFh (AL<O0)
aas - AX = FFO9h, CF=1
or al,30h , AL = "9O-

28-9=19

gEens H MICHS

X ZAOEHAMHEA HA=Se[A0




me AAM B0
il B
B AAM

= unpacked decimal number0j] Lo &/ ZAiE adjustment

B Multiply 5 by 6

mov bl,"5"
mov al,"6"

;, First operand
; second operand

and bl,0fh ; BL=5 (unpacked decimal)
and al,0fh ; AL=6 (unpacked decimal)
mul bl ; AX = 001Eh
aam ; AX = 0300h
or ax,3030h ; AX = 3330h = "30"
1Eh = 30
STx% A MICH S
&_jggggggﬂ =c|¢of
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mm AAD B
]
B AAD
» LIAO07] A0 AXO| A 2= unpacked decimal2 H91=l dividend&
adjustment (16H|E 27142 HEL)

_data
quotient BYTE ?
remainder BYTE ?

.code

mov ax,3337h ; dividend "37°

and ax,0fO0fh ; 0307h (unpacked decimal)
aad ; AX = 0025h

mov bl,"5" ; divisor

and bl,0fh ; 05h (unpacked decimal)
div bl ; AX = 0207h

mov quotient,al ; quotient=07h
mov remainder,ah ; remainder=02h

=20 42



T Packed Decimal Arithmetic

il
B Example: 18 + 22 = 40
= 0001 1000 + 0010 0010 = 0011 1010 ->[Adjust]-> 0100 0000

B Decimal Adjust Instruction

Instructions =Xt

DAA Decimal adjust after addition

DAS Decimal adjust after subtraction

implicit operand: AL

Feeny & MICHS il

M=
WO Y HEEHEEX o EcIA0]




g DAA B}

]
B DAA
« GIMI(ADD, ADC) 20j packed BCD @ A10] E| = 2 adjust
= CF: 22J4H|E Q] 7li2|, AF: O[{J4H]| E Q] 72|
B Examples
35 + 48 | mov al,35h
add al,48h - AL = 7Dh
daa : AL = 83h, CF = 0, AF =0
35+ 65 | mov al,35h
add al,65h - AL = 9Ah,
daa - AL = 00h, CF = 1, AF = 1
35+ 26 | mov al,35h
add al,26h - AL = 5Bh,
daa - AL = 61h, CF = 0, AF = 1

44




mm DAS O

il
B DAS
« HHAMI(SUB, SBB) 20| packed BCD B 210] |2 adjust
= CF: 22]4H| E Q] borrow, AF: 0}{]4H| E Q] borrow
B Examples
48 — 35 | mov al,b48h
sub al,35h - AL = 13h
das : AL = 13h, CF = 0, AF =0
62 —35 | mov al,62h
sub al,35h - AL = 2Dh,
das - AL = 27h, CF 0, AF = 1
32 -39 | mov al,32h
sub al,39h - AL = F9h,
das - AL = 93h, CF 1, AF = 1
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